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1731-26-PCA-2686-MJD51816.91773_lc.txt / MJD 51816.917710 / burstid=2686

- _ Grey line: exponential fit Peak flux: 1.862+/- 0.022 c/s/cm? -
B [ plack Ihe: power law * gauss it Fluence : 54.85+/- 1.17 clem’ B
= P Duration : 66.15+/- 1.45s 3
- Best fit model: 3. .
= Best fluence model: 3. -
- Best duration model: 3. 7
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; Exponential fit é
= Expon.time: 19.97+/- 0.47 s (chi*red= 7.84) =
= : + =
= ﬂw i o it f f f =
= Pty b Foody b b e
= A L oty BET B i S
= g Wit AT R Bt AR A
ST I N AR TLIY A S NI UL
= i H * } [ b3
; Power law fit é
- Power law index: -1.65@/- 0.006 (chi*red= 29.77) 3
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— Power law fit plus Gaussian (st.dev.= 26.71+/- 0.15 s, fracgs= 0.41+/- 0.01) =
- Power law index: -1.483+/- 0.033 (chi*-red= 6.14) 3
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